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Instructions :—

The paper consists two Parts A and B. Part A is of
40 marks and Part B is of 35 marks. All questions
are compulsory. Answers should be brief and all parts

of a question be answered together.
(1} For Regular Students Part A only,

{2) For Students of N.C.W.E.B. both Parts A and B

are compulsory,

Attempt AW questions.

Gt 757 FT

PART A (W1 &)

. Explain the following terms :
{1y CPU t2)
(1) Hardware and Software (N
(iii) ‘Net Etiquette {2)

(v) Animation and Transition in Power Point

Presentation {2

(v) Operators used in excel formulas ()
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Frafafiag e & e Fifaw

(i) cry

(i) eréemy 3N wiveaRn

(i) AT wdee

(iv) Ui 3t R dBT R A awA
(v) worde wOfsl & s e

| §]

(a) What is computer memory ? What are difterent

tvpes of memory a computer can have ? {3)

{b) What do vou understand by Application Software ?
Give a brief account of various application

software, (M
OR
tay (i) Calculate the Binary equivalent of (23),,.

(i) Calculate the Decimal equivalent of (1011},
(5)
(b} What do vou understand by Operating System ?

What are its functions ? (5}
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(@) FwE divedm @ s o wEn ¥ 7 R i
FwarT F A8 A fawe A

Jreran
(=) (i) (23), F Rumend wwgem w1 wfiwan Ffw
(i) (1011), % =A9=T AL =1 JRee FifoIT |

(@) 5T I T AN A WA § ¢ T8 . T TR

g7

{ay What do »ou understand by the ferms “Search
Engine’ and “Browser” " How are they usclul in

the content of imerme 7 {3

(b) Explain briefly. the Paragraph formatting aind Page

formatting in a word document. {5y
OR

(1) What is the need of protocols in the comtext of

internet 7 Explain any two protfocols. {5}

(by Whai are various wavs in which tables can be

created in MS Woard 2003 7 {3}

(F) ‘&9 TH Ak @I T A M ow weew f 7
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(F) Tee & "o A Welwel F ®n JEwawa B 8
= @ Al ) @ren WA )

(@) MS af 2003 ¥ feFR gEw @ AerEist 1 w5
SCE

4. (ay What is an array tformula ? Write the syntax and
explain the arguments of the formula for

calculating frequencies trom the given data. (3}

(b} What is the role of Design templates and Masters

in crealing a power point presentation ? (M
OR

(a) Write the syntax of the formula to generate a
random number between ‘a’ and ‘b’ by using the

following functions:

(i) RAND

(i) RAND BETWEEN (5)
(b) Can you use a Word object, an Excel sheet. an

audio clip and a video strip in a power point

presentation 7 How 7 (5
P.T.0.
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PART B (¥ @)

5. Write the results of the Tollowing functions :
(i) =AND{2+2=4, 3+2=5)
() =ROUND(4.249.2)
(1) =SQRT(-16)
(iv) =MAX(18.22.20.28,32)
{v) =AVERAGE{15.10,20.11} (5}
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fafafas ot & oiiom fEfaw

(i} =AND(2+2=1. 342

(i) =ROUND($.249.2)

(i) =SQRT(-16)

(1v) =MAX(18.22.20.28.32)

(v) =AVERAGE(15.10.20.11)

©h

6. (a) From the data given below. write the formula to

calculate :

(i) D A in Cell C2.if it is paid & Rs. 2000, if
Basic Salary
Rs. [8000: d
more than Rs. 18000 but less than Rs. 230040
and @ Rs. 4000 tor Basic Satary of Rs. 23400
and above.

iy less than or equal to

Rs. 3000 if Basic Salary is

A B C

K i_Nf\ME T BASIC SALARY | DA !
S ; {
I 2 1 AJAY * 12000 |
= : - —
o3 | VIAY *l 22000 !
L4 Ravi ! 18000

5 KAPIL ‘ 23000

6 | SACHIN 30000

-

P.T.0.
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(i) Total Salary paid to all the persons in Cell
B7. (5)

(b) From the data given below write the formula 1o

calculate :

(i} Effective Rate of Interest in Cell BS.
(i) Number of Installments in Cell 36,
(ii1) Amount of Installment in Cell B7. and

{iv) Interest for the 4™ half vearly Installment in
Cell BS.

A 3 C
1 T Loan Rs. 400000
|-
2 | Tenure 3 Years
3 | Rate of Interest 18% pa’
4 | Mode of Pavment Half Yearly
| 3 ] Effective Rate of Interest
— T
6 | Number of Installments
7 I Amount of Installment
(8 | Interest for 3™ Instaliment 4
(10}

OR

{a) Write the formula to calculate amount of Principal
repaid in 24™ installment in Cell BS from the

following information -
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().
f T - T - =
A . 3

1 Lease ;Anmum-.‘" R, Houhot F
2 [ Annual Rate of Tnterest 9u, ‘l
- - —_—
3 | Years of Lcase in 4
B - 1. L;HJJ

;4 . Made of Pavment Quarterhy
5 !—Amouni of Pri'l‘ic'ipal Repaid :
(I

{hy From the data rsg:irding satars derails ol sis
empiorees of a company. ~how the Torneia Toy
making various caleuiations as fndreated

D R C D 5

— h ! ) . FUR

|1 UNAME L TOTAL [PPEUINCONT O NEL

i | CSALARY 5 ©hAN SALARY

, : — : e

¢ 2" Ashoh 1odooo0

| } ] e S + - R —

H i - H

L3 Bala | 120000 :

| . ] e m o —_——y

;4 Charu 1 80000 T |

a ( | TR o

{ S5 . Dhnno 1 60000 | .

5 4 = -_, -t —_—r— - - —]

| 6 ¢ Fzaz 48000 L. ' ‘ ,
(v To determine -the amoeunt o Pt b

deducted from total ~atary of the empiey v
i Celt €20 the rate of PEois 8330 of
total satary up ;ic_) 8OGO0 and o 1070 above
30000, |

o,
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iy To deduct Income Tax @ 10% of total salary
below Rs. S0000, o 20% if total satary is
R~. 30000 or nﬁ)_:'_c but Tess than Rs. 100000
and o« 309 0t total salars is Rs. 100000 and

more in Cell D2

(it o caleulate neg satary in Cell E2. (1)
(41 A B oqw e d F RafafEe # afteas = e s
Hfan

(i) @ (2 @ DA T T 99 18000 F A FH A
WA A Al :(m(i;_.fp. 12T R 8000 5 B HUE -
T 25000 T FFH A A 3000 T A W AR
25000 % 3R m_:.;afuaﬁ T 00T AT

fear aan )

A B C
i1 am i A 3?1-‘{ DA
QT ‘- —

L2, Hma 12000 |
— S |
I 3 1 famm 2000
L4 A | 18000
— + J— —_— s -
' s w - 25000
—t— — :
O 30000
- ! — .
[ |
i J.
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7.

examples

13

(i) | ITA- 50000 T A &7 B TG0, W7

A e Fafeq. afz wH 999 So000 ¢ @
e & ‘T-rj; EO(‘)‘.:U(HI R I B B TR BT
& g wfen 3R af FA D2 A avoon T oA
T A W AR A A v, AW A s

FEY |

(i) & £2 % Fem g9 &1 ofrwem 7

(a) Which are the Logical tunctions used wr clect-onie
spreadshects 7 Give the syniay ob vy ooy

functions and explain with the el of ~uceble

(AN

tht You are required Lo write steps and formide e he

indicated cells -

() to Generate 100 random numbers between

100 and 300 in"(""clls AN oto AT,

(ity to Fix these numbers in Cells startmy from

Al

(iii) to Catenlaie frequencies in Cells €25 10 029

by using.the Tolfowing clisy intervals:
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14

. NN
Y Class tervals - ,
!H;_ Lower Upper Frequeney (f) l
fﬁ i3 w0 140.
T R At )

EEEE S 220
) LZ"H_ B ;2:(1 ) : 200
- *29 N 260 ! 00 1
H?()_ f f Total !

tivi o Calealate the value of £f in Cell C30.

" OR

(1o

Cd Write the meaning and sy nwax of “Intercept’ and

Sope” functrons incihe context of Reuression

AMHIRSNTS

v Mo the Formuia to, caleulate ~

()

G X Gl CTErin Coll £7 and SN in

Ce'l 7

ai Mean n Cell F& and

Cin Standard Deviation in Cell ¥9,
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